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CBA I s about e.

A Systematically working out opportunity cost



The road not taken

Two roads diverged in a yellow wood,
And sorry | could not travel both

And be one traveler, long | stood

And looked down one as far as | could
To where it bent in the undergrowth;

Robert Frost The Road Not Taken



The oOo6withod scenyvario
Measure
this

The o6withoutod scenar.i

Decision made, regulation
introduced, project started

A




0She will always carry one

Something 1 s | ost, somethi

The Pretenders Hymn to Her



What 60s the point?

A Make sure B >C
A Make BT C as large as possible

A Need more than one alternative



The need to make compari sons emer ¢

What is the
Obusi nes

What Is the
decision

: usual o
(choice) set?

scenario?




Example: NBN

ACurrent government pol I

A $16.1 billion better off

A Or

A $6.1 billion worse off
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Net benefits relative to no further rollout ($b,
present value),
e

Met cost of fixed
wireless/satellite,
some FTTP and govt 6.1

funding
o
>
16.1
_NEt bem:jﬁtz fr[;m Met cost of full
Improved speeds to FTTP and slower
non-rural areas
rollout
using HFC and FTTN
13
Mo further rollout Unsubsidised rollout MTM scenario FTTP scenario

Source:Independent costbenefit analysis of broadband and review of regulation Vol Il The costs and benefits of high speed broadband



In the decision set Outside the decision set



In the decision set Outside the decision set

D: $100

écan afford to spend $89 to mak



In the decision set Outside the decision set

A OA f awoured

project D: Achieves the same

_ objectives as A
B: Do nothing

el s

the true choice really rel



Not hard to find other examples

A FTAS

r  What is in the choice set?
r  Multilateral liberalisation?

r Unilateral?
ro?

A Light rall
 Light rail versus nothing?
Light rail versus another form of public transport?

 Light rail versus some ot her



Macmillan Student Editions

Cost-Benefit Analysis:
Theory and Practice

Ajit K. Dasgupta and
D. W. Pearce

OSome projects may never
anal yst because they have
political reasons. This screening process may be
perfectly efficienté.

But there may be a tendency to accept uguestioningly
constraints imposed at lower levels of the political
hierarchy.

The reason for acceptance is usually that it greatly
simplifies the problem, often eliminating complete
directions of policy. Several writers have warned against
this danger of overacceptance.

The problem, however, is that once the analyst himself
guestions the constraints, he appears to be overstepping
the bounds of his predefined function.

It is the general problem of defining the limits of advice,
of finding the dividing line between advisor and decision
maker 0
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Typical analysis
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Parameters for research project impact evaluation: (a) economic benefit; (b) adoption profile



Wheat varieties frequency of use

Origin unknown
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Yield (tha)

Yields
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The seed varieties

Rana-96
Solh-02

Lalmi-1
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Rana-96
Gul-96

Lalmi-1
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Patterns of planting and yield

n: 6 i
Mean local: 548.72 _ n: 122
Mean ACIAR: 581.56 - % Mean: 428.75

Mean ONA: 558.06

s.d: 199.10
s.d local: 195.28
s.d ACIAR: 181.12
s.d ONA: 171.53 Local

n: 41
Mean local: 421.68

Mean ONA: 550.64
Other s.d local: 226.65
non-ACIAR s.d ONA: 242.32

\ n: 88
Mean: 591.21
s.d: 223.01

A

n: 17
Mean local: 448.64
Mean ZD: 538.92
s.d local: 233.72
s.d ZD: 172.24

n: 2
Mean ZD: 525
Mean ONA: 507.5

s.d ZD: 49.50 n: 27
s.d ONA: 24.75 Mean: 540.63
s.d: 204.11
n: 3
Mean local: 396.67
Mean ZD: 475.60 Zard Dana

Mean ONA: 488.48
s.d local: 161.66
s.d ZD: 48.83
s.d ONA: 2.81

n: 16
Mean local: 432.56
Mean ACIAR: 498.60
s.d local: 175.77
s.d ACIAR: 183.04

N:

Local Zard Dana ACIAR Other NA

212 57 53

Mean: 429.86 537.87 597.04

S.D:

204.27 178.20 201.76

n: 23
Mean: 686.29
s.d: 207.31

ACIAR

n: 2
Mean ZD: 630
Mean ACIAR: 700
s.d ZD: 98.99
s.d ACIAR: O

n: 6
Mean Local: 345.83
Mean ZD: 527.22
Mean ACIAR: 538
s.d local: 195.77
s.d ZD: 186.31
s.d ACIAR: 139.89

140
574.82
223.34



Supply shift for 10 baselines

WIthout research

With research

Case 1

Case 2
Case 3
Case 4
Case 5
Case 6
Case 7
Case 8
Case 9
Case 10

Local only

Local mixed
Local only

Local mixed
Local only

Local mixed
Local + ZD only
Local + ZD mixed
Local + ZD only

Local + ZD mixed

ACIAR only

ACIAR mixed

ACIAR + other non-ACIAR only

ACIAR + other non-ACIAR mixed
ACIAR + other non-ACIAR + ZD only
ACIAR + other non-ACIAR + ZD mixed
ACIAR only

ACIAR mixed

ACIAR + other non-ACIAR only

ACIAR + other non-ACIAR mixed

0.375

0.280
0.297
0.260
0.282
0.248
0.346
0.242
0.264
0.220

0.343

0.256
0.285
0.259
0.252
0.227
0.331
0.241
0.272
0.244
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Benefit-Cost ratio

20

16
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BCRs

m BCR under K

m BCR under K'

Case 1

Case 2

Case 3

Case 4

Case 5

Case 6

Case 7

Case8 Case9 CaselO



24

Confidence

Range of probabilities that value of selected variable

IS greater than zero

%

Ko(vertical shift in the supply curve) 65t079
Present value of net benefits to 2020 59 t069
Present value of net benefits to 2030 65to 77




Lessons

A Sometimes comparison Is not clear
AThere may not be a singl

A Do more comparisons rather than fewer



What to put in BAU?

A Everything that matters for the decision
A Decision sensitivity versus outcome sensitivity

A This will vary by project

r For NBN, the future path of WTP for speed was crucial (but in a
counterintuitive way)



Recap

A CBA Is about opportunity cost

A It has a range of techniques to make sure the
comparison is done correctly

A But, choosing the comparison in the first place may
be the most important part



Lessons

A If you commission or need to interpret CBAs

r Always ask about the comparison and the reason for the
comparison

Do the results change if the comparison changes
r How much? Why?

A If you do the CBAs

r What is being excluded? Why? Should it be?
r  How does that change the results?

r|s there a better way?

r Be transparent



For the profession

A Are you evaluating a fixed set of given options?

A Do you want to say something about an option that is
even better?

r

A How far do you take your role as economic advisors”

A Is it ethical not to be transparent (about a better
option)

A Some clients love It, some hate it



Thank you

ES The Economic Society
of Australia




